Unit 8: Solid Waste, Hazardous Waste & Water Pollution 



 
Directions:  Answer these questions as practice questions for the test Friday.  Complete sentences not required, but be thorough!!   

1. What are examples of hazardous wastes in an American home?  In your home?  In BHS? 

2. The limited regulation of hazardous waste exempts small businesses and factories that generate less than 100 kg of hazardous waste per month.  

a. What do you think about this regulation?  Use the following conversions to support your answers.  

b. Relate your understanding of scale and ppm to this regulation.

3. How do ecological footprints relate to (solid and hazardous) waste?

4. Make a Venn diagram for the high-waste and low-waste approaches waste management.


5. Include the roles of biomagnification, high quality energy, and low quality energy in your Venn diagram if you have not done so already.

6. What are different ways to convert toxic/hazardous waste to less hazardous waste?

7. Create a flow chart that illustrates conventional product design and one that describes green design.  Start with raw materials and include (among other necessary components): manufacturing, energy and product use.

8. What is anaerobic respiration?  What is anaerobic respiration?  

a. Construct a Venn diagram for these processes.

b. How will these processes relate to this unit?

9. What are brownfields?  

a. What is remediation?  How is it similar or different to restoration when it comes to brownfields?

10. Why are combined sewer systems problematic?

11. Use the information below to answer the following questions

Concentrations of total ammonium, biochemical oxygen demand, nitrate and orthophosphate in European rivers between 1992 and 2001
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a. Do you think the concentrations of BOD5 and ammonium are related?  Why or why not?

b. Why do you think the concentration of nitrate remained relatively constant?

c. What could have changed to the watershed to that would have caused the drop in BOD5?

d. What could have changed to the watershed to that would have caused the drop in ammonium?

e. What could have changed to the watershed to that would have caused the drop in phosphate?

1 pound = 0.45359237 kilograms


1 ton = 2000 pounds = 907 kg








Note: BOD5 is an incubation period of 5 days, while BOD7 is an incubation period of 7 days.








